
6t.21 
Exercisse 
Add the following. 

HTO HTO HTO HTO HTO 
7 0 4 7 3 6 3 1 4 4 0 0 23 5 

+14 2 1 4 2 + 5 6 O +3 4 0 +4 0 1 

46 636 

HTO HTO HTO HTO 
5 

TO 
4 0 3 7 4 1 

+1 6 9 
3 2 8 4 8 9 

+2 9 +2 9 4 +2 2 2 +2 7 6 

0 711 011 

TO 
67 7 

HTO HTO 
59 4 7 5 9 5 9 5 6 5 2 

+19 7 +1 7 9 +2 9 8 +25 9 +2 6 5 

38 L 3 q11 9y2 
HTO HTO 

76 3 2 3 3 
+6 0 8 

11 6 8 1 
+1 1 9 +7 9 9 +3 4 3 +14 9 
992 410) 2 3 0 

HTO HTO HTO HTO 

3 4 8 3 1 7 3 6 3 2 2 5 5 8 8 
+1 0 2 +21 5 +2 1 5 3 7 4 + 2 6 0 

450 749 

35 
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